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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any one question from Section A and any
three questions from Section B.

3. Answers may be written either in English or Hindji;
but the same medium should be used throughout the

paper.
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Section A (15 marks each) — Answer any one.
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Analyse how the contemporary world of globalised
finance is different from that in the conceptualisation
that Lenin made in his book “Imperialism”. Does this
make Lenin’s theory irrelevant to the analysis of

contemporary capitalism and the world economy?
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Explain the justification of ‘restrictive practices’
and ‘price rigidities’ in Schumpeter’s analysis of large
firm behaviour. Do these promote economic

inefficiency?
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Do you think that in Marx’s understanding of a social
system, the relationship between the economic and
non-economic domains can be analysed in a
unidirectional manner, in which the former determines

the latter. Discuss.
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Section B (20 marks each) — Answer any three.
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Explain how “technical progress” is crucial in Marx’s
analysis of capitalism in (a) the internal logic of its
regular functioning and (b) in the context of various
capitalist crises, as both a cause and a solution to
different types of crises.
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Deduce the relationship of the rate of profit with the
rate of surplus value and the organic composition of
capital. Elaborate on the working out of this relationship

and explain how this forms a basis for crisis under

capitalism.
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“The rate and direction of economic development in a
country at a given time depend on both the size and
mode of utilisation of the economic surplus.” Elucidate
this statement of Paul Baran and analyse his
evaluation of monopoly capitalism using such a

framework.
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Explain Kalecki’s analysis of business leaders’
opposition to maintenance of full employment in
capitalist democracies. How was such an opposition

overcome in the Nazi regime in Germany?
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Provide a Marxist framework to analyse the crisis in
global capitalism that broke out in 2008. How does

such a framework essentially differ from a Keynesian

one?
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9. In what ways does Irfan Habib differ from the
standard analysis of the emergence of capitalism? In
that context explain how colonialism created the ideal
conditions for the emergence of capitalism in Western

Europe.
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10. “It is therefore a profound mistake to conceive of (
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capitalism as being in essence a ‘private’ economic
system” (Robert Heilbroner). Explain this statement
with an elucidation of the role of state in the capitalist

system.
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